ROBICEZX.
(1) 35x+ 9ly + 66z = 3 Z2Wi TEEDM (x, », 2)Z—HRDX.

(2) 35x+ 91y +65z2=3 2T RBEDOHE(x, v, 2)OPT 2+ y2 OEMNE
INERBHD, BLXUFOR/MEZRD L.



() ssx+q144652-3 -0
/352453 =3-91% '

\ 5(%+132) =3-91%
Tovt A=-2%T3 e 3-914=3-1Xx(-2)=3+122=135 =kx31

3¢ TX+132=37 e53a7 Sheshed 2, 23N T e

L="4 Te52 250,

bit (%,%,2)=(-4,-2,5)

M= w3 u3 R EREE Ak
3-91% 2 Fa B $l L H 3 Lok It ],

z.zv-mmﬁ%;j
B At 249,

(2) Dot 22, 2)=(-4,-2,5) AR € fhir
35 (-4) +91- (-2)+65.5=3 ---- @
O-@ ik, <. Antshkt1a3e

BsX T YUY T 5T =3
=) 35-(-4)+ql- -2+ £5-5=3

35(A+4) +91(4+2)+ 65(2-5)=0
“he () e BLUF E BRI
/35 (ata) + £5(2-5) = =114+2)
| b{1(arar+ \BLz-s')} = —91(4+2)
=1 Befln §Hl:,¥. s s =zd tEaﬁ'gL<§3m:g‘f}+z$\“5'a

/ﬂ?ﬁd\ s "H 3,
i M+2=b60 (Ro¥B) = FuTH3, Saky = 50-283,

43k
S’f'l(1+4)+13(2—s)2;=—‘1|e*:ﬁ
T(X+q)+13(2-5)=-91L *%23,
it s F RS L w<k
T A+4) = -1 -13(2-5)
T(Xt4)=13(-TL-2+5) :
2T e 133 R0tk eSS E3 R Bzl 148 130

Aot s 3. .
317 A+t 4 =13m mir BE) e F 13, tavi A= 13m-4%3,
CEL |
Te13m=13(-12-Z+5)
Mme==l=i+5
Tony g=-10-Tm=+5 %3,

(45,7 >
(%, 4, 2)= (13m-4,50-2,-TL-T1M+5)

/\alo. %\\\4@ ' faLb\ﬁ‘g\
bohiBt RUDLE.,

L | AE 5 (FLrr4 0
XAaB3etRrypitt=z,




A, M, 2 A, REEL L, me
(2,%,2)=(3m-4,50-2 —_q0-qm+5)

r BIqt.

5 3%
A2 M = (13M-4T +(5R-2)
Al
‘o 48 Bl eB3a@ M=0, L=0arx "5 3,
>3 ‘

(£,%,2)= (-4,-2,5) a3 X+% 3 Rl

AT 2 49 = Y+ (-2) = 20 %3,



